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QUESTION 1

Which is a prerequisite for using an Oracle Database Performance and Tuning solution?
A. Linux Operating system

B. 8 GB of memory

C. Oracle Database Enterprise Edition

D. Oracle Enterprise Manager

E. deep knowledge of Oracle Storage subsystems

Correct Answer: C

QUESTION 2

When performing performance analysis of Oracle Real Application Cluster (RAC) databases, what are three Automatic
Database Diagnostics Monitoring (ADDM) analysis modes that are available?

A. Database
B. Instance
C. Partial

D. Sample
E. Average

Correct Answer: ABC

QUESTION 3

To analyze all database instances in an Oracle Real Application Cluster, in which mode would you run Automatic
Database Diagnostic Monitor?

A. INSTANCE
B. DATABASE
C. FULL

D. CLUSTER
E. PARTIAL
F. ALL

Correct Answer: A
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QUESTION 4

What are three reasons an implementation of an Oracle Database Performance and Tuning solution is superior to that
of scripts or third-party tools?

A. It is a part of the database, which means no added installations, configurations, extra user accounts,privilege
granting, etc.

B. It eliminates the need to reverify compatibility, upgrade third-party tools, or rewrite scripts after a patch ordatabase
upgrade.

C. It has the largest library of custom scripts and procedures and includes an assembly builder to maintainthem and add
more.

D. Results come from the Oracle Database Optimizer and not rules or heuristics trying to predict what theoptimizer may
do.

E. It is the most inexpensive tool in the market.

Correct Answer: BDE

QUESTION 5

Which product technology can assist an Application Developer to capture a full production workload and replay on a test
system database?

A. Oracle Database Diagnostics Pack for Oracle Database
B. Oracle Database Replay and Testing Suite

C. Oracle SQL Developer

D. Oracle Real Application Testing

E. Oracle Real Tuning Pack for Oracle Database

Correct Answer: D
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